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Test 1 (B)
Question 1.

(a) (5 marks) Evaluate the definate integral using Riemann sums.
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(b) (2 marks) Write the above integral as a limit of Riemann sums using left endpoints as sample

points. Do not evaluate the limit.
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Question 2. Evaluate the following integrals.
(a) (3 marks)

/(x_1 +tanx + ¢ — 10x*) dx
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(b) (4 marks)
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(c) (4 marks)
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(d) (4 mafks)
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Question 3. (5 marks) Find the average value that f(¢) = sec 6 tan 6 takes on the interval [0, 7 /4]
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Question 4. (5 marks) The error function

. 2 X. —t2
erf(x)———fﬁ/o e ' dt

is used in probability, statistics and engineering. Use the midpoint rule and three rectangles (n = 3)
to approximate erf(4).
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“ Question 5. (5 marks) Compute the following derivative:

4
dx

In(x?)
/ arccos(f +2)dt
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Question 6. (3 marks)

it F@=[ f@ar wd ) /\/20\2*51’“

compute F"(3).
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Bonus. (3 marks) Show directly that a definate integral

/abf(x)dx

computed using Riemann sums with left endpoints as sample points gives the same result as using -
~ right endpoints as sample points. (Hint: Think about what happens to the first and last approxi-
mating rectangles in the Riemann sums).



